(#7-2)
Limiting and excess calculations —Draw

1. Balance and Draw the original quantity of atoms present in each reactant beaker.

2. Balance, complete ISE table, and Draw the products of the following chemical reaction.
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}i a. Whatis the limiting reactant? CL’LBOH’

b. Does the pressure in the container increase or decrease or stay the same? (think)
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3. Inthe beakers below a neutralization reaction is taking place. The HCl is 50ml of 0.3M.
a. Re-write and balance the chemical reaction. Hd +No O\’% e
b. Draw the NaOH at an equal concentration (NaOH is ionic)
c. Draw the products.

Aoﬂ + NaC |

.NaoHaq} NaCl(aq) +AH20(I}

Hydrochloric acid sedlum hydrox:de
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Which substance is the limiting reactant? Neb® ™ vl f—(‘xﬁ'\"*
What is the concentration of each ion before and after the reaction. M"" ﬁ

H* OH cr Na* re =0 .0‘15
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4. nthe beakers below there is a neutralization and precipitation reaction takmg place Balance
and complete the drawing of the products.

Hydrochloric ac;d Barium hydroxdide (base)

| Ba(OH): BaClzgsy + HaO0 \ g s

a.
b.



